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Instructions for the Candidates

. Write your Roll Number in the space provided on the top of this page.
. This paper consists of one hundred (100) multiple choice type of questions. All questions are compulsory.
. At the commencement of examination, the question booklet will be given to you. In the first 5 minutes, you are requested to open the

booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper seal on the edge of this cover page. Do not accept a booklet without
sticker seal and do not accept an open booklet.

(ii) Tally the number of pages and number of questions in the booklet with the information printed on the cover page. Faulty booklets
due to pages/questions missing or duplicate or not in serial order or any other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the period of 5 minutes. Afterwards, neither the Question Booklet will be replaced
nor any extra time will be given.

(iii) After this verification is over, the Test Booklet Number should be entered on the OMR Answer Sheet and the OMR Answer Sheet
Number should be entered on this Test Booklet.

. Each item has four alternative responses marked (A), (B), (C) and (D). You have to darken the oval as indicated below on the correct

response against each item.
Example : CA> @ (© (D where (B) is the correct response.

. Your responses to the items are to be indicated on the OMR Answer Sheet under Paper — |l only. If you mark your response at any

place other than in the oval in the OMR Answer Sheet, it will not be evaluated.

. Rough Work is to be done in the end of this booklet.
. If you write your Name, Roll Number, Phone Number or put any mark on any part of the OMR Answer Sheet, except for the space

allotted for the relevant entries, which may disclose your identity, or use abusive language or employ any other unfair means, such as
change of response by scratching or using white fluid, you will render yourself liable to disqualification.

. You have to return the original OMR Answer Sheet to the invigilator at the end of the examination compulsorily and must not carry it

with you outside the Examination Hall. You are however, allowed to carry original question booklet and duplicate copy of OMR Answer
Sheet on conclusion of examination.

. Use only Blue/Black Ball point pen.

. Use of any calculator or any electronic devices or log table etc., are prohibited.

. There shall be no negative marking.

. In case of any discrepancy in the English and Gujarati versions of questions, English version will be taken as final.

uflauellad w2 Yueud

.Ul Wettefl U uR edlAcl oM dH At Aoz cull,
. YUl Wgds[@s Beid Hnddl W (100) YA widc B, wut ¥ ull sRAA D.
- udlatell fguileHl WU YHYERSL wue wiad, yur wid (1) Rz eAe dud yry@Est el UA BAAUD AR e udlaa

5q :

(i) YHYRASIAN cuRn el M2 L 5eR Yool 1l UR WA et 152 8181 A, Augl AR Wlet W52 adtredl ¥ yeell
YnyREsL llstrel «Adl,

(i) saR Y U2 B RZwegur YnyRAsen Y, Yol ua v sier qsRll . willysd yny@st 3 Sui yil/ Yl Aei dly,
QA cllz BUAL A, BefsHHL vl A AY §25 AU wUld Aug AN wollysd yay@st sl «Adl A A vilysd
ynyRast el a A Adlats WAl did o olly W yny@ast Aad Adl, v w2 GRecA Wi (4) ARz uHUMA BUMD
wlad, udlell, Yynyfast dedal W «8l 3 Y auined wHaoudl i wad 4,

(iil) vt ustugll Wit a ue], yHyREAsLA ez OMR ¥ellel UaAs U2 AWl WA OMR wellol UaAsell siolz YRYEAS WR Aud,

. Y5 YR MR UR wellol @seu (A), (B), (C) WA (D) WuelHl WA B. M2 WU vellolsll Aeted (oval) A o widet GELEWL Yyl

Aotell odlA diyel sl sellef B
G : A @ © (D ¥ vl (B) WA weuul B,

. L URYRASLAL YAloll el WALl vtucuHi WA OMR ¥alol Wasui uz-|| alcd Retdtd % Bl s2al. A WU OMR ¥ellol UAsHi

Ut 2Deiet (oval) Rt vtot A Feltol G 580 A A ¥ellole] Yealisel sUML WA A,

. 8y 814 (Rough Work) U#yRastetl 2{@n Y uz 53,
. L WU OMR ¥elled UAs A ¥l Rt wed AEURL WA, vl olti, A odol?, Rot ook vl Ag Y RA&3 Bl drudl Waw

a4y w, vild 5A wyl WAHG UM YL 53, U o2 DY uefRd WA GuL 53, BHY B 58 QDA wetiol Gl dwal
¥ ude wWéad UL 53 cledl A vuuA ulal W2 WA M Y AR 6l

. udlat wua YA a8 ol oie WAV AQOMR wettel uas ® A Rdasd 5@t AWl B wA Y vl AL A udlau visell werR dg

wq ol uflan yol uat cue GREcR WAV YKYRASL UA OMR ¥eutol uasell Eaze Al Netell WA @t ¥ ud B,

9. Wzt slefl /7 ¢l QA Ao Aot ctuell,

0.

1. Wll2L ellol W2 elslAMs dQliset yut «ll.

. YRY[RAstoll A1 Rl vealle BN A Qe /HdRE wua A iy et Ao AL

3esyQe, AL 2Ued A ved BASZEAS A GUAL s2ellell HoudS D,

36 3 3k i ok ok ok ok 3k ok ok ok ok 3K K 3 K 3 ok ok ok ok K ok K K K ok ok ok ok Ok K Kk K K KK R K K

Fok sk s ok 3 ok ok 3 ok koK A K K K K Kk ik Kk oK ok K ok ki ok ok kK ok Kk K ok Ok Ok ok K ok ok ok K o K ok ok ok kK ok ok ok ok K






s

1.

PSYCHOLOGY

Paper - Il
1. s el@sautal Qendl Wsgallz4Al

When a physics student measures the
saturation of a colour in a coloured paper
using spectrometer, his experience is

(A) Immediate experience
(B) Intermediate experience
(C) Sub-luminal experience
(

D) Mediate experience

. Which of the following is not an application

of Normal Probability Curve (NPC) ?

(A) To find the percentage of cases
below a given score point

(B) To find the percentage of cases
above a given score point

(C) Tofind the percentage of cases lying
between two given score points

(D) Todivide agiven group into categories
according to an ability where the
distribution is not known

. When the correlation between two

parallel forms of the test is found to be
0.60, then it means

(A) Test is highly reliable
(B) Test is moderately reliable

(C) Nothing can be said about the
reliability of the test

(D) Common variance between the test
forms is 36%

Guat s8R 230et soranl 291l it
HIQ B, uUY Adl ugelel 3 Alu B

(A) clesl@s vajolel
(B) Mtaetell wojeiacl
(C) Vet-ystand Agjeict
(D) Htatell wdgaal

. Aot 568 AMloAn Hellcloll cAstAW ofl

GuAo0eut otell ?

(A) A8 ARA Yiretisefl AR vulet set
Batiefl 25tcUdl e 2,

(B) 8¢ AR ylrdisell Gur wde et
Bautell 2steudl alten e

(C) A AR Yirclisell a2 ¥cll gt
Batell estatdl et MR

(D) *au? @dze AR W o A2
ML A R 518 g Q2t-geu
Qeuwd sa W2

. vl 50l A AHIAR W A

UeUoiYU 0.60 A U Aol udd
g uauud?

(A) 50| Ui Quuslu 8
(B) s sran Quuolu 8
(C) s0EeAl Quatellact @R s 58l ast Al

(D) sWlett AU AW QA ALHLeA cASlelel
3s% ®
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The white fatty substance covering the
axon is called

(A) Collateral

(B) Interneuron
(C) Dendrites
(D) Myelin sheath

. Which of the following terms refer to the

perceived effect of the amplitude of light
waves ?

(A) Color
(C) Brightness

(B) Saturation
(D) Hue

. What is one disadvantage of a heuristic

approach to solving problems ?
(A) It may yield a wrong answer

(B) It takes sufficient time and effort to
solve the problem this way

(C) ltis too random

(D) Remembering heuristics takes up too
much working memory

. According to Freudian theory ego

works on

(A) Pleasure principle
(B) Reality principle
(C) Moral principle

(D) Kinesthetic principle

- 4.

Acllal WCRQ ot UFE NeYsel (U0{Ysd)
ueldda 9 sdaud ?

(A) Actiale] Y Ae (\AREA)
(B) uticiRs v @S
(C) dyequl

(D) ReMA vUARML

Aotz 56 ollolcl YUsLA A90Nell 3L
uottoll 2ulldl wuef aglet 53 B ?

(A) 2L (B) U ¥ Ayl
(C) Gwandl (D) asieet
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As AN 5 B 7

(A) A ulgn ¥ VAl araliol vitucltell 1ol

UUAD B
(B) A wMAA Ghetet M2 Yoell dMal U

Yol HO 2U1d B
(C) A welwos yBad

(D) & HeltoteHs A e Ava M2
Baiats et A B Ak B

 AeBauct Rl yorol *ué” s Rl

U2 s 53 87
(A) vrle Reic
(B) arelscit Raict
(C) AR5 Rsict

(D) retta@scit Reiet
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8.

10.

11.

The drive to reduce cognitive dissonance
can result in which of the following ?

(A) Better social interaction
(B) Attitude change
(C) Increased physiological signal

(D) Behaviour shaping attitude

Which of the following methods would
be least practical to use when studying
infants ?

(A) Naturalistic observation

(B) Structured observation

(C) Psychophysiological methods
(D) The clinical method

A is a 3" party who acts as
a good process manager, helps parties
resolve the conflict, and ASKS the parties
to decide the solution.

(A) Negotiator
(B) Mediator
(C) Arbitrator
(D) Adjudicator

referstofocus of consciousness,
therefore amounts to a focusing of

particular element of consciousness.
(A) Connotation (B) Apperception

Perception

D) Apprehensi

8.

10.

11.

(€)

AAottriell 56 ool sitetlerts (Qridteett
gatscll WA A B?

(A) Grid ABU®s idBa
(B) uellacigil 38R ¥ uRadat
(C) wilRs Akl A

(D) ot SR BUclte] HollalEl

ol Sl oAU scll HIZ ol Al Hiell s¢
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(A) yslcal @dlawe

(B) AuMs ¥ vt Aaw
(C) HAWRRS ualdul

(D) RBu usl

A Ay cala B 2 Wil supldl
sclloll cAcRUUS B uA Al A
u2Lsal M2 UBlA HEE 5 D el Usla
Gictoll (Rl W2 52 B,

(A) ctellctu ¥ cuatutel e

(B) wtarell

(C) awdl

(D) udlas ¥ uautla (AsvyR32R)

Adolle] 3@l eld B, R U WA
B Aetoliotl NS AR cccte] Bels1L 5.

(A) S\lARUst (B) wRycuat

(D) udolu

yeuellsn
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12,

13.

14,

If we want to study that income varies
by the level of education a person has,
which analysis will be most appropriate

(A) T-test
(B) Chi-square test

(C) Pearson’s product moment
correlation

(D) Cross-tabs

Which of the following is/are the limitation/s
of split half method of reliability ?

I. It gives reliability for half of the test.

Il. It gives different estimates of reliability
based on the nature of split.

(A) 1only
(B) Il only
(C) Bothland I

(D) Neither | nor li

At the synapse, the information is passed
from one neuron to another by chemical
known as

(A) Endorphin
(B) Synaptic cleft

(C) Neurotransmitter

(D) Hormones

12.

13.

14.

o Dol saua UL Alas HEAA
Adll we 52 At A (lAainiell
56 5081 A Aoy W¥A?

(A) d-2
(B) stg-cdl-5:08
(C) Raude oJeustz uRun ueoiy

(D) slu-2o

Al Aottiiel Qautellactell ud Qousyet
weriQoll Halewd s © ?

I R wstl 50l Quuelacd el d.

I, AUt Qetwet uekfdeil 23U o vULR
wvielwd RQuaellad aecud 2 8

(A) HA |

(B) Wl

(C) 1ua Il ¢

(D) oid\ Wiell | ua 1l v «dl

AU U MR clloj As Actt Anmiell

oflont ActtSlMl YU L
wa B,

(A) ReA(Fet (Endorphin)

(B) Ras sAse
(C) YAgleur{leR

(D) ==l
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15.

16.

17.

Which of the following represents the
correct path of light through the eye ?

(A) Iris, cornea, lens, retina
(B) Cornea, iris, lens, retina
(C) Cornea, pupil, lens, retina

(D) Cornea, lens, pupil, retina

When Archimedes leapt from his bath and
ran through the streets shouting “Eureka”,
he probably had just experienced a
moment of
(A) Gestalt

(B) Einstellung
(C) Verification
(D) Insight

Which of the following shows the correct
matching of Column — | (theorists) with
Column — Il (concepts) ?

Column-1 Column-Ii
P. Freud 1. Collective
unconscious
Q. Jung 2. Social interest
R. Adler 3. Need for approval
S. Horney 4. Unconscious
P Q R S
AV4 3 2 1
B3 2 1 4
c2 1 3 4
Dby4 1 2 3

15.

16.

17.

(D) 4

AlAottHiell 56 ollotel uiual Ystatel A
Holoj yQARARe 53 B ?

(A) aAxue, €5 b wrels wze, axmell,
ax gdat

(B) &5 ¥ WRedls Ued, aaue, g,
ax edQt

(C) &5 ¥ wRedls ued, 441, a=augl,
PR

(D) €5 ¥ wReds ued, axugl, 44,
A VgL

wU? WERAR Aol cuauzn Higl Yrst
G uisell A0 AsA, AR Ad

56 &Rl wgjeacl ?
(A) WReue ol vsgey@

(B) MolfQout ofl uajoyf
(C) ustuell 3 wre «fl wagey(
(D) ity ol wagey@

Al Aoumie Nt - | (Reicatdl) R -1
(vautell) WA w2l Asell 56 & 2

P lctig | sl —H

P. 9¢s 1. WHRBs Al
Q. ¥t 2. WM AURZA
R. Ase? 3. wellglAell aRad
S. 8 4. Aol

P Q R S
A4 3 2 1
B)Y3 2 1 4
)2 1 3 4

i1 2 3
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18.

19.

20.

21,

Which of these tests is not an implicit
measure of attitudes ?

(A) Projective measurement technique
(B) Association test

(C) Lost-letter paradigm

(D) Semantic differential test

During Piaget’s Sensorimotor stage, what
is the ability to flexibly altering existing
schemas into new schemas called ?

(A) Accommodation (B) Assimilation
(C) Adaptation (D) Equilibrium

Which of the following is an example of
eudaemonia ?

(A) A person who is excited about an
upcoming tour to France

(B) A person who is deeply involved
in solving a difficult problem and
satisfied when a creative solution is
found

(C) Soccer crowds singing and shouting
at the World Cup

(D) Winning Rs. 400 in a contest and
inviting your friends for a party

According to Freud, id employs two
mechanisms for reducing tension

(A) Determinism and reflex actions
(B) Conscious and unconscious
(C) Perversion and primary process
(

D) Reflex action and primary process

“18.

19.

20.

21.

(D) v ydBa ua yiuRs yGa

il 58 s HolacEl of ARl
Hiust otell ?

(A) vAuel Hiuet vl
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(C) VaAd 26él of Sles
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oA tmiall Uyt 3 2t AN o 2
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Al UA wUR AN UXelleHs Gl HA
QU A A au B

(C) acd suni 52 ¥ctolt el ua ol
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(D) ¥s i 3.400 Vet Ba 1A AAQ
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22.

23.

24,

25.

“Males score significantly higher
than females with respect to math
achievement” — This is an example of

(A) Non-directional alternative
hypothesis

(B) Non-directional null hypothesis
(C) Directional alternative hypothesis

(D) Directional null hypothesis

When a researcher is studying an
association between a performance
on psychological test and actual work
performance evaluated by manager then
it will be an example of

(A) Content validity

(B) Criterion related validity
(C) Divergent validity

(D) Construct validity

The retina contains two types of cells
(A) Rods and sclera

(B) Fovea and cones

(C) Rods and cones

(D) Visual and optic

The sense of smell is also known as
(A) Olfaction

(B) The salivary sense

(C) Chemical infarction

(D) Gustation

22.

23.

24,

25.

2R ctell RRott Hoitunl Yadlett Yiretis slladlon
Ytuedis 52cll s Ala 6A B 7 v Reid
sCuelle] 53 GELERQ B ?

(A) Qet- Rauyus dsls Raict seust

(B) @ot- Rouxyus o Rsict scusuL
(C) Ruyus dslAAs Reict seue

(D) Ruwyus you Rsict sEUsll

wAR Sl ANus HoAldsulAs s0Eel
YLdls dal AAwR gt scuul wadd

yelisotoll qeoiUA VAN 5 AR
ADettiell 56 awdcltoll oA A
sdalld ?

(A) (Quwa aaugddt

(B) mués ¥ uusicllet aaedal
(C) @R aaedc
(D) ues uandddl

axedeni Q ysikel A Sl B

(A) uoll AN uta wglluec/Ad ved
(B) Ulcllg e eigslsd

(C) uoll A U 2igalnl

(D) ardl ua avdl eumst

dlttofl AAeell A st cttuall MellA Hlal
(A) Wes

(B) cunell ddesu

(C) AMAB s Bosiselat

D) @i
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26.

27.

28.

29.

(C) Moro |

What are mental categories representing
activities, objects, qualities, or situations
that share some common characteristics ?

(A) Classes
(C) Attributes

(B) Concepts
(D) Classifications

Mother Teresa’s ‘love for humanity’ is
the best example of which type of trait
of personality ?

(A) Central trait
(B) Cardinal trait
(C) Surface trait
(D) Constitutional trait

Which factors may result in unstable and
weak attitudes ?

(A) High accessibility, low affective-
cognitive consistency and high
ambivalence

(B) High accessibility, High affective-
cognitive consistency and moderate

ambivalence

(C) Low accessibility, low affective-
cognitive consistency and high

ambivalence

(D) High accessibility, high affective-

cognitive consistency and high
ambivalence

Which of the following reflexes occurs
when an infant's cheek is stroked ?

(A) Sucking (B) Blinking
(D) Rooting

26.

27.

28.

Ye@A, uetdll, opendl wgal uREAAM
23l Wlet WiRAA A edladl swafs
AR sal sl WA 8 ?

(A) adll
(C) 9 &l

(B) vaucll (seust)
(D) aa(ls2u

HUR 23l ‘Hlotdlell QU calacaon st
“ewele] GELERRL D?

(A) Mraadl uicat
(B) Hm JQicaial

(C) Hwdlot JfRietat ( Tute YRt )

(D) cituzella opuiciat
sl Y28 AURAR e ool HoleteRml
uRuiR ® ?

(A) Gy yYaetdl, Pust WABs-6QULHS
YAl vl GL RuteHscl

(B) G yeoiell, G wWALs-cltLeHs
YANelelt Bl HeAN @5

(C) el Yetetelt, Fiet AR -LD LM s
Yolddl U G Bricscl

(D) G yeolell, Gt AR s-cQuLHs

29.

YAl UA Gt RleHsell

AR GlnNs oll A A YWl 8l U
ol Aotniell 56 YAt yABa i d

(A) waq (B) uliwel Hlustd
(C) WA (D) 3Ra
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30.

31.

32.

Ashish has a history of troubled
relationships and impulsive behaviour.
However, he is adamant that he is
experiencing high levels of well-being.
According to the Complete State Model,
Ashish can be described as

(A) Languishing
(B) Flourishing
(C) Floundering
(D) Struggling

Five types of Yama according to Patanjali
are

(A) Ahimsa, Asteya, Satya, Brahmacharya
and Swadhyaya

(B) Ahimsa, Satya, Asteya, Brahmacharya
and Aparigraha

(C) Satya, Asteya, Swadhyaya,
Aparigraha and Ahimsa

(D) Asteya, Ishwarpranidhan, Satya,
Dhyana and Swadhyaya

correlation is used to find
out how well a particular item belongs to
a particular test.

(A) Bi-serial correlation
(B) Point bi-serial correlation
(C) Tetrachoric correlation

(D) Phi-coefficient

30.

31.

32.

AN Yehcllwets Holth UA AU ciclot A

SAsY uAA D, A F WEAN AU WA D 3 A
G2 satlell Yutstdl udeicll 80 B, snelle

Rz Wt Yool WA —— B,

(A) (@t Al
(B) it culfieet
(C) wawe cafficet

(D) durma ¥ ydellua cafica

U@ oll 1A sl Ui uslell M B P

(A) B, wAY, U, WU uUR
rellta,

(B) ua, uedt, AU, wsud wa
wWURoLe

(C) e, e, b, uURYe uA
W@

(D) e, SuUIRNUM, e, tallet U
U

Sl s |l 56 ollolel (W2 H, s, UcUEH)
AU B A wyal H2 Hevolall
GudloL iy B,

(A) sla-RRud usiiu

(B) Qg2 cua-RARuA ueuiy
(C) 2218Rs uericit

(D) sig-ARAfae2
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33.

34.

35.

36.

Deviation Intelligence Quotient as
a measure of intelliigence was first
used in

(A) Binet-Simon test
(B) Kamat's test of Intelligence
(C) Wechsler's Adulit Intelligence Scale

(D) Raven’s Progressive Matrices Test

is the general term for a
deficit due to brain damage, in the ability
to communicate with or understand
speech or writing.

(A) Dyslexia
(B) Aphasia
(C) Agnosia

(D) Amnesia

Which of the following is not a monocular
cue for depth ?

(A) Convergence
(B) Overlap
(C) Linear perspective

(D) Texture of gradient

The term artificial intelligence was coined
first by

(A) Mary Shelly  (B) Karel Capek
(C) Isaac Asimov (D) John McCarthy

33.

34.

35.

36.

of@ett Hu M2 @Quetst off 35 (1.Q.) A A
yuu GuoL S sl &l ?

(A) Qa-wanet s@E

(B) stitetell off 502
(C) AsueR ol Yudaaloll ool s:0EL

(D) *etefl MYRA Azl 508

Qctclell, wretell ¥ cutatell astdl
MR Ucll o5l Ul ULSIA ——
5% B.

(A) Bedella
(B) R stoeclt ¥ cdettatell

(C) sluula aja
(D) vyldeia

Al Aotuigll 520 AsLe H2ett As A
W otell 7

(A) uebodlaus
(B) wiatet: aisgl ¥ uldcaula
(C) llu seuricel

(D) ugeltell uBA 5K

5001 of[& A udl ¥ 2oe yAot Well udeut
A sl &l

(A) Adl Acll
(C)

(B) s ¥us

gats AW (D) et Azl
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37.

38.

39.

40.

Jung’s theory of personality is best
described as

(A) Type theory

(B) Trait theory

(C) Psychodynamic theory
(D) Neo-psychoanalytic theory

What term is applied to the affective
component of how we feel about a certain
group ?

(A) Prejudice
(C) Schema

(B) Stereotype

(D) Discrimination

According to James Marcia, a person
who has never doubted what they wanted
to become and so never explored other
options is considered to be

(A) in moratorium
(B) in identity achieved
(C) in identity foreclosed

(D) in identity diffusion status

An individual who understands events
in life and finds them controllable and
meaningful experiences is experiencing

(A) Coherence

(B) Positive coping
(C) Hardiness
(D)

Learned resourcefulness
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41.

42,

43.

According to McGeoch, the six criteria
for evaluation of a psychological system
are

(A) Definition of psychology, general
postulates, nature of data, principles
of selection, principles of connection
and mind-body issue

Nature of psychology, general
postulates, nature of data, principles
of selection, principles of connection
and mind-body parallelism

Definition of psychology, general
postulates, nature of data, principles of
selection, principles of behaviourism
and mind-body parallelism

Nature of psychology, general
postulates, nature of data, principles
of selection, principles of collectivism
and mind-body parallelism

(B)

Two ways that scientific investigations
can be retested are

(A) Measurement and control
(B) Repestition and replication

(C) Defining a problem and
hypothesizing

(D) Analyzing and Concluding

If test item X has a 0.5 difficulty level and
test item Y has 0.8 difficulty level then
which of the following is correct ?

(A) ltem X is difficult than item Y
(B) Item Y is difficult than item X
(C) Both Xand Y have same difficulty level

(D) Difficulty level of both the items can't
be compared
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44.

45,

46.

In the core of the brain stem, running
from the medulia upto the midbrain, is a
complex region containing many small
clumps of neurons and a number of long
and short nerve fibers. The appearance
of this region is called

(A) Reflex arc
(B) The reticular formation
(C) Sensory fibers

(D) Hippocampus

The process by which the brain stops
attending to constant, unchanging
information is called

(A) Adaptation
(B) Habituation
(C) Sensitisation

(D) Accommodation

The trial-and-error method of solving
problems is also known as

(A) The use of a heuristic device * -
(B) The use of algorithms

(C) The mechanical solution =~ -
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47.

48.

49.

50.

Which of the following principles is the
key tenet of Bandura’s theory of social
learning ?

(A) Pleasure

(B) Reality

(C) Vicarious reinforcement
(D) Law of effect

What term is applied to a scale in which
a high score can only be earned by
agreeing with an attitude ?

(A) Demand characteristics

(B) Intelligence quotient

(C) Social desirability

(D) Acquiescence response set

The school of psychology called
structuralism used a technique called
___, which involved reporting
the contents of consciousness to study
a person’s experiences.

(A) Intervention

(B) Introspection
(C) Insight inventory
(D) Induction

Which of the following is not a good way
to handle cyber bullying ?

(A) Ignore or block the person
(B) Tell your parents or a teacher

(C) Get into a fight with the person at
school

(D) Save the messages as evidence
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51.

52.

53.

) Neither | rI _’

is identified as the founder
of phenomenology.

(A) Jean-Paul Sartre
(B) Edmund Husserl
(C) Immanuel Kant

(D) Jean Ponty

Which of the following is not a strength
of experimental studies ?

(A) Control of variables
(B) Replicability
(C) Narrow definition of concepts

(D) Establishment of causal links
between variables

What is/are true about the item
discrimination index ?

|. It can’t be used in the item analysis
of personality tests.

Il. It can be used in the item analysis of
aptitude tests.

(A) lonly
B8) H only

(C) Both land Il
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Aus diy v 8.
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54.

55.

56.

- 57

o (C). ;Op'erant cdnditioning

T (D) Classical conditioning

The left temporal lobe contains a region
of association cortex called

(A) Broca’s area
(B) Temporal area
(C) Wernicke’s area

(D) Frontal area

Which of the following terms refers to the
psychological effect of the length of light
waves ?

(A) Color
(C) Brightness

(B) Pitch
(D) Amplitude

The correct formula for determining 1Q
as used in Terman’s development of the
Stanford-Binet Test was

(A) MA/CA/100
(B) MA/CA x 100
(C) MA/CA

(D) CA/MA x 100

The famous ‘Bobo doll experiment is
known for demonstrating which principle
of vsocvial learning theory of personality ?

(A) Modeling
(B) Law of effect
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58.

59.

60.

61.

What term is assigned to changing ones
behaviour due to the imagined or actual
presence of others ?

(A) Conformity

(B) Minority influence
(C) Social desirability
(D)

D) Social impact

What is the correct sequence of Freud’s
psychosexual stages ?

(A) Latency, anal, oral, genital, phallic
(B) Oral, genital, latency, phallic, anal
(©)

)

(D) Oral, anal, phallic, latency, genital

Anal, oral, latency, phallic, genital

According to Sufism, who propounded the
concept of Oneness of Being (Wahadatul
Wajood) ?

(A) Mohd Igbal (B) Ibn Arabi

(C) 1bn Khuldun (D) Al Hathym
Hermeneutics means

(A) Interpretation of literary texts

(B) The study of the origins of symbols

(C) The study of language at the level of
the sentence and above

(D) The study of the mind as a closed

system
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62.

63.

64.

65.

(D

If neither the experimenter nor the
participant knows which experimental
condition the participant has been
assigned to, this is known as

(A) Experimental conditions
(B) Standardization

(C) Double-blind

(D) Single-blind

Creativity is a measure of
(A) Convergent thinking

(B) Simultaneous information
processing

(C) Divergent thinking
(D) Conventional thinking

The basic function of the cerebellum is in
(A) Sensation and perception

(B) Regulating emotions

(C) Higher order cognitive processing
(D) Coordinating complex motor skills

A stimulus may be too faint or brief to
be consciously seen or heard, such as
a deeply embedded or a very briefly
flashed image, but may still be perceived
by one or more sensory receptor cell.
This is called

(A) Subliminal perception

(B) Supraliminal perception

(C) Sensory adaptation
Extra sensory perception
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66.

67.

68.

69.

Which of these might be an example

of a performance item on the Wechsler

intelligence tests ?

(A) Repeating a series of digits
(B) Defining a word such as lunch

(C) Adding a series of orally presented
numbers

(D) Using blocks to make a design like
one shown in a picture

The conceptualization of personality
through ability and temperament traits
was given by

(B) Allport
(D) Cattell

(A) Eysenck
(C) Roger

On which theory is the realistic group
conflict model based ?

(A) Social impact
(B) Social evaluation
(C) Social identity

(D) External attribution

For the behaviourist, personality is a set
of learned responses or

(A) Traits
(B) Conditions
(C) Stimuli

(D) Habits

N
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70.

7.

If you usually listen to the 6 o'clock
news while smelling dinner as it is being
prepared, you would tend to associate
the news with dinner and eventually the
sound of the 6 o’clock news alone might
cause your mouth to water even if dinner
was not being prepared. This is known
as

(A) Instrumental conditioning
(B) Classical conditioning
(C) Observational learning

(D) Perceptual learning

How does a field experiment differ from
a natural experiment ?

(A) Because a natural experiment uses
pre-existing conditions, there is
less room for error than in a field
experiment.

(B) Field experiment has low ecological
validity, but a natural experiment has
high ecological validity.

(C) Afield experimentis as well controlled
as a laboratory experiment, while a
natural experiment has less control
than a laboratory experiment.

(D) In a field experiment, a variable is
manipulated. In a natural experiment,
the researcher makes use of
pre-existing ‘conditions’.
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73.

74.

Which of the following is a right description
of MMPI ?

(A) It is a measure of unconscious
motives

(B) It is developed on criterion keying
approach

(C) It does not have validity scales

(D) Itis based on a specific theory

is the large band of fibers

that connects the right and left cerebral
hemispheres together.

(A) Corpus callosum
(B) Diencephalon
(C) Epinephrine

(D) Pons

Priya finds Coca-Cola to be refreshing
and tasty. When she attributes this
perception to all colas in red cans, she
is engaging in

(A) Stimulus discrimination
(B) Advertising wears out
(C) Cosmetic variations

(D) Stimulus generalization
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75.

76.

77.

78.

Which of the following is a desirable |

characteristic of culture-fair tests ?

(A) They should minimize or eliminate
the use of language

(B) They should not attempt to measure
intelligence

(C) They shouid be composed of items
that vary from culture to culture

(D) They should measure values based
on a person’s cultural background

According to Cattell’s theory of personality
Ergs are known as

(A) Environmental source traits
(B) Constitutional source traits
(C) Surface traits
(D) Cardinal traits

theory is called the third force
in personality theory.

(A) Psychoanalytic
(B) Behaviorist
(C) Cognitive

(D) Humanistic

What are field experiments and natural
experiments collectively known as ?
(A) Quasi-experiments

(B) Pseudo-experiments
(C) False experiments

(D) Qualitative studies
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79.

80.

According to B.F. Skinner

(A) The kind of learning most
characteristic of human beings is
problem solving, which enables
individuals to gain some control
over their environment.

(B) Conditioned learning results when a
stimulus that is paired with another
stimulus that elicits a known response
serves to produce the same response
when used alone.

(C) A person’s level of involvement
during message processing is a
critical factor in determining which
route to persuasion is likely to be
effective.

Most individual learning occurs in
a controlled environment in which
individuals are “rewarded” for
choosing an appropriate behavior.

if a researcher is interested in measuring
attitudes towards a film by taking ratings
on contrast adjectives like good-bad,
pleasant-unpleasant, positive-negative
like these then this is an example of

(A) Equal Appearing Intervals method

(B) Paired Comparison method

(C) Semantic differential method

(D)

Likert's scaling method
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The brainstorm consists of the

(A) Hindbrain, thalamus, limbic system

(B) Hypothalamus, limbic system,
cerebellum
(C) Midbrain, pituitary gland, thalamus

(D) Hindbrain, medulla oblongata and
midbrain

produces more initial learning,

whereas usually persists

longer.

(A) The central route to persuasion; the
peripheral route to persuasion

(B) Massed learning; distributed
learning
(C) Modeling; vicarious learning

(D) Recognition; recall

Which of the following is/are the correct
description of ‘need and press’ as per
the Murray’s theory of personality and
motivation ?

I. Needs arise from environmental
events.

ll. Press refers to the pressure caused
by the biological instincts.

(A) lonly

(B) 1l only

(C) Bothland i
(D) Neither I nor I
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84. According to Rogers, people brought up
with unconditional positive regard

(A) Tend to be vain and narcissistic
(B) Are unlikely to be fully functioning

(C) Feel valued regardless of their
attitudes and behaviors

(D) Live lives directed toward what others
want and value

85. The amount of information available
for delivery from short-term storage to
long-term storage depends on the
amount of ____ it is given.

(A) Recall (B) Rehearsal
(C) Retrieval (D) Encoding

86. A researcher is looking at the effect of
drinking alcohol on the ability to play
darts. Half of the participants drink a pint
of beer, while the other half drink a pint of
water. All participants throw three darts at
a dartboard and have the score recorded.
How this experiment is best summarized ?

(A) Between-groupsdesign. Independent
variable is the amount of alcohol
drunk. Dependent variable is the
three dart score.

(B) Within-groups design. Independent
variable is the three dart score.
Dependent variable is the amount of
alcohol drunk.

(C) Between-groups design. Independent
variable is the three dart score.
Dependent variable is the amount of
alcohol drunk.

(D) Within-groups design. Independent
variable is the amount of alcohol

drunk. Dependent variable is the

three dart score.
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87.

88.

89.

90.

Multi-trait, multi-method approach is used
in assessing the

(A) Test retest reliability
(B) Content validity

(C) Criterion validity

(D) Construct validity

An EEG signal that reflects the brain’s
response to the onset of a specific
stimulus is called a(n)

(A) Event-Related Potential (ERP)

(B) Positron Emission Tomography
(PET)

(C) Functional Magnetic Resonance
Imaging (FMRI)

(D) Transcranial Magnetic Stimulation
(TMS)

Forgetting is often related to the passage
of time, and is known as the process of

(A) Interference (B) Decay

(C) Reconstruction (D) Extinction

‘Inferiority feelings are source of human
striving’ was advocated by which theory
of personality ?

(A) Jung’s theory
(B) Freud'’s theory
(C) Adler's theory
(D) Horney’s theory

(D) &lo{lol Reict
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91.

92.

93.

94.

Freud’s psychosexual theory of
development emphasized all of the
following except

(A) Conscious drives and motivations

(B) Repression of unconscious feelings
or events

(C) The coordination of the id, ego and
superego '

(D) Sexual and aggressive instincts

Texture gradient refers to the fact that
texture appears to become

(A) More detailed in the distance

(B) More detailed as brightness
increases

(C) Less detailed in the distance
(D) Less detailed when it is brighter

Which one of the following is not a type
of plagiarism ?

(A) Find-Replace

(B) Remix

(C) Recycle

(D) Retract

Which of the following pair is the odd one

out ?

(A) Minnesota Multiphasic Personality
Inventory — Clinical Test

(B) General Aptitude Test Battery —
Industrial Test

(C) Differential Aptitude Test -
Educational Test

(D) Progressive Matrices Test — Interest
Test
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95.

Temporal contiguity is the tendency to
perceive

(A) Objects that are close to each other
as part of the same grouping

(B) Things with a continuous pattern
rather than with a complex, broken-
up pattern

(C) Two things that happen close
together in time as being related

(D) Objects that are in a common area

96.

97.

(D)

or region as being in a group

When Vaibhav failed in 10" standard
examination he told his parents that ‘this
time the God was not on his side’. This
belief of Vaibhav could best be explained
by which theory of personality ?

(A) Rotter's conceptualization of external
locus of control ’

(B) Rotter’s conceptualization of internal
locus of control

(C) Modelling principle of Bandura's
theory of personality

(D) Operant conditioning principle from
Skinner's theory

The depth cue in which far away objects
appear to be hazy and have a blurred
outline is called

(A) Linear perspective
(B) Shadowing
(C) Aerial perspective

Motion parallax
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98.

99.

100.

‘Moving toward people’ as a neurotic
coping strategy was conceptualized by

(A) Horney
(B) Adler
(C) Roger

(D) Lazarus

Animus as an archetype of personality in
Jung’s theory of personality means

(A) Female element in men
(B) Male element in women
(C) Animalistic impulses in people

(D) Attitude of females towards men

Free association as a technique of
recovering the lost memory was used

by
(A) Jung
(B) Horney

(C) Freud

(D) Sullivan
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